Year 4 Arithmetic Test 1 teStbase

18+6+ 6=

1 mark
3005 + 1000 =

1 mark
Ex6=

1 mark
34x1=

1 mark
250-25-25=

1 mark
29x0=

1 mark
14 +7 =

1 mark

© Testbase 2015 Page 1



Year 4 Arithmetic Test 1

testbase

2200 + 500 =

1 mark
12 x 3 =

1 mark
11 x7 =

1 mark
24 + 4 =

1 mark
3 3
—_t—=
8

1 mark
4x9=

1 mark
6 1_
7 7

1 mark
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Year 4 Arithmetic Test 1 teStbase

?+ 110 =450

1 mark
48 + 12 =

1 mark
9000 - 500 =

1 mark
96 + 8=

1 mark
2x3x4=

1 mark
700 - ? =280

1 mark

1465

+ 4716

1 mark
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